DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD 10 DO §0O

T.B.C. : B-ABVB-0-GPU ' " Test Booklet Series

p—

i} .
—

'TEST BOOKLET

ELEMENTARY MATHEMATICS

. e —

Time Allowed : Two Hours _ " Maximum Marks : 100

4‘

10,

INSTRUCTIONS

" IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD

CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET. . ' _

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and
Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. ‘Any omission/discrepancy will render the
Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DG NOT
write anything else on the Test Booklet. _ :

This Test Booklet contains 100 items (questions). Each item is prmtcd both in Hindi ancl English.
Each item comprises four responses (answers). You will select the response which you want to
mark on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions

-in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to vanc}m 1tems in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling 1n all yom‘ responses on the Answer Sheet and the e;.ammatmn has

. concuded, you should hand over to the Invigilator only the Answer Sheet. You are pemuttad to take

away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penaity for wrong Answers !

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each qucstmn for which

a wrong answer has been given by the candidate, nne-thtrd of the marks assigned to that
question will be deducted as penalty.

(1) If a candidate gives more than one answer, it will be treated as a wrong answer even if one.

of the given answers happens to be correct and there will be same penalty as above to that
question. :
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1.

The number of values of x satisfying

x+—=2>50, where x is a natural number

X \
Iess than or equal to 100 is

(@) 51

3

®) 53
(c) 55
(d 57

. What is the sum of digits of the least

multiple of 13, which when divided

by 6, 8 and 12 leaves 5, 7 and 11

respectively as the remainders ?

(a) 5

- ()

6
() 7
(d) 8

A milkman claims to sell milk at its cost
price only. Still he is making a profit of
20% since he has mixed some amount

- of water in the milk. What is the

.percentage of milk in the mixture ?

200 o
3

(a)
b 7%
(c) 80%

250 %

@

What 1is \’4+wf4—«f4+ 4—
equal to ? '

(@ 3

® 41—32_.1

B-ABVB-O-GPU - A

.(a)_n 6

'u'l—l-g+1'

© —

@ o

. The * largest natural number which

divides every natural number of the form
(7 —n)n~2), where n is a natural
number greater than 2 is

> .

® 12 -

() 24

| (d) 48

. The "average of m numbers is n* and

the average of n numbers is m’. The
average of (m +n) numbers is

(@) mn

®) n+n

© mnmd+d)

@) mnin’ + n’ - mn)

. The digit in the units place of the

resulting number of the expression

C(234)' + (234)' is

(a) 6

®) 4

(c)y 2

d 0
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(a) %

b)) 7%

. «j4+_af4-J4+ 4-

(c) 80%

250,, -
%
C) 3

o w2 0
(@) 3
V13 -1

® —

e

1341

2

(c)

@ 0

o (n* — n)n ~2), 5&t 1 2 A 5 R AR

B, % UaR T WorF aaguia & e
WA A JETH FAQIE F AR 7

(a) 6

b 12

(© 24

d) 48

. m S W RET ot R AR Henat

Waﬁ'ﬂﬂ;n“%l(m-!-n)ﬁ@’laﬁ?ﬂ&ﬁﬂﬂ

TR ?

(a) mn
(b) m +n’

(c) 'mn{mz + nz)

(D) mn(p® + n* — mn)

. T (234)'% + (234)"% <t it wen

@R F WWE W G R 7
@ 6
(b)4’
© 2
@ o
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8. If x= v§+«ﬁ, then the value of

.11,
P rx+—+— is
X X

(a) 1043

®) 2043

© 1042

@ 20V2

10.

. The value of

1 1 1 1
+ +

: +...+ is
Ix4 4x7 7x10 1619

(@ —

® —

© —

@ -

Two trains are moving in the same
direction at 1-5 km/minute and 60 km/
hour respectively. A man in the faster
train observes that it takes 27 seconds to

cross the slower train. The length of the

slower train is

B-ABVB-O-GPU - A

11.

(a) 225m
(b) 230 m
(c) 240 m. _

(@ 250m

4 :
A tin of oil was — full. When 6 bottles

of oil were taken out from this tin and
4 bottles of oil were poured into it, it

3 :
was full. Qil of how many bottles can

the tin contain ? (All bottles are of equal
volume)

- (a) 35

12,

(b) 40
(c) 45

d 50

A number when divided by 7 leaves a
remainder 3 and the resulting quotient
when divided by 11 leaves a remainder 6.
If the same number when divided
by 11 leaves a remainder m and the
resulting - quotient when divided by

. 7 leaves a remainder n. What are the

values of m and » respectively 7

() 1 and 4

(b) 4and 1

(¢) 3 and 6

" (d) .6 and 3

https://www.pyqonline.com
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8 Rk x=+3+2, @ x3-+x+l+—3' F1
x x

@ >

10.

R ™1 8 ?

(a) 1043

(b) 2043

©) 10v2

@ 2042

QELENPE O B

Ixd 4x7 7x10
A T 8 7

16x19

b —

© L

@ =

ql temfgar wan .1-5 km /fime 3R
© 60 km /%2 & wE fesm & w1 < ¥

3 wfi vt X # o s G

- e dift wf el TR F 9R ww

27 ¥he T & | Wi Al A W

- Y T w2

11.

(a) 225m

(b) 230m
© 240m
@ 250m
ﬁﬁﬁffﬁﬁw%ﬂﬂ@nmlﬁﬁsﬁ |
7 & odga da Fewren T sk IEd
AT 9 S A T

1 | s & fret e 3 o TEA R 7
(Wl AEl F AT THE )

(a) 35

(b) 40

"~ (e) 45

12.

() 50

felt v Ft afe 78 fawfm fwm smg
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e w1 118 R fen ot 6

IEA AT 2 AR SR wET A 1A

frfra R o @t Awe wE @
R qRomt WA ® w9 7 | fawfe
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F T WH FTE 7

@ 13R4

.(b)43ﬁtl

(¢) 3 3K 6
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13. Consider the following in respect of the 16. If a, b and c satisfy the equation °

- X -3 +2x+1=0 then what is the
' ) x—1 ' 1 1 1
equation y:-(_) value of —+—+— 7
x=-1 : a b ¢
l.y:].lf.x}l (a) _l
2
2 y=-lifx<1
_ (b) 2
3. y exists for all values of x
—_ . (c) -2
Which of the above statements is/are _
. correct ? ' |
@ -
(a) 1 only 2
() 2only :
17. A and B are two taps which can fill
(c) 1 and 2 only’ - ' _ a tank individually in 10 minutes and
’ 20 minutes respectively. However, there

(.1, 2 and 3" - : is a leakage at the bottom, which can
. : empty a filled tank in 40 minutes. If the

_ tank is empty initially, how much time
14. If (x+1) is the HCF of Ax" +Bx+C will both the taps take to fill the tank

i and sz +Ax + C where A # B, then the with leakage ?
value of C 1s ' :

(2) 2 minutes

(a) A
®) B _ | (b) 4 minutes
() A-B ~ (¢) 5 minutes
@ o ' ' (d) 8 minutes
15. The seven digit .number 876p37g is 18. Which one of the following is correct ?

divisible by 225. The values of p and ¢
can be respectively -

.(a) V2 <6 <4 |

(@ 9,0 | i
) V2>¥Y6>Ya
® 0,0 |
© 05 . a (c) Y6<2<¥s
@ 3.3 d Yo>2>Y4
‘B-ABVB-O-GPU ~ A o .
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13.

14,

15.

¢ e 1) i
ﬁm%ﬁaaqzﬁaﬁ-ﬁ%rq

L y=13fgx>1
.2.yl=~»lqﬁx<l

3. x % w9 Am ¥ fam y @ afee
g

N N T
(a) aﬁﬁl

(b) ¥ 2

(© ﬁmlaﬂtz

(d 1,23R3

A A+ Bx+ C #R Bx* + Ax + C W,
W&l A # B, WETH gHGEdS (x+ 1) B A
C&H WA F7-8 7

(@ A

(b) B

(c} A-B

@ o

wT it B e 876p37,225 % W

21 paR g F "W FAY: T B FHA
27

(a) 9,0
®) 0,0
(c) 0,5

& 9,5

16, afe a, b AR ¢, TR £ -

o

3+ 2%+ 1=0
Ft TIE T &, a‘t——+b+l F AHE

27

17

(b) 2
© 2

1
.{d} 2

AR B 7@ & ) wE I 1 Ae-
s wmAw: 10 fime 3k 20 B # W
T EIRADFTTEI =SS, AN
7 g 2 W 40 Pz  weh R T
2 | oft 7t smw & @t 7, @ oAl |
Fe AR e F A e wam A 7

(a) 2 ﬁ#a

®) 4fr

(o) 5P

18.

i,

d) 8Pfmz
frfRm A d s o = ad 2 7
(@) V3 <¥6<Va

®) - VZ>46> ¥4

© Y6<+2<¥a

@ ¥6>v2>¥4
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20.

21,

22.

- 19. The value of a single discount on some
amount which 1s equivalent to a series of

discounts of 10%, 20% and 40% on the
same amount, is equal to

(2) 432% :
®) 50%
(©) 56:8%
@ 70%

If k=x-y+2z where -2<x<1,
—1=£y=<2 and 3=<z=6, then which

‘one of the following is correct ?

(a) 0<ks9
) Ss<k<lil

(c) 2<k<14

@ 2sks11

The number of pairs (x, y) where x, »
“are integers satisfying thé equation

2lx+48y=5is

(a) Zero
(b) One
© Two

(&) Infimey

Let x and y be positive integers such
that x is prime and y is composite.

* Which of the following statements are

correct’ ? '

I. (y—x) can be an even integer.

- 2. xy can be an even integer,

3..0-5(x + y) can be an even integer.

B-ABVB-O-GPU - A

. Select the correct answer using the

- 23,

code given below :
(a) 1 and 2 only
(b) 2 and .3 only
() 1 aﬁd 3 only

(d 1,2 and 3

Let x and y be positive integers such

that x>y The expressions 3x + 2y and

2x+3y when dividled by 5 leave
remainders 2 and 3 respectively. What
is the remainder when (x - y) is divided
by 57 ' :

_ (a}.4_

24.

b 2
©) 1

@ 0

In a race 4, B and C take part. 4 beats
B by 30 m, B beats € by 20 m and

" A beats C by 48 m. Which of the

following is/are correct ?
-1. The length of the race is 300 m.

2. The speeds of A4, B and C are in
_the ratio 50 : 45 : 42.

~Select the correct -answer- using the

code given below :
(a) 1 only
(b) 2 only
(c). Both | and 2

(d) Neither 1 nor 2

https://www.pyqonline.com




19.

ferett oy = vanet Bz &7 9% 7 S 94
TR R 10%, 20% K 40% & fafemr

TWF AL, TR

(a) 432%

(b)) 50%

20.

21.

22"

{c) 56-8%

@ 70%

afe  k=x-y+2z &
1sy=23R3sz<6 a foafafag d
& T TE G R 7

(a) 0sks9
b) Ssk<ii
© 2<k<14
@ 2sks 1l

AR 21x + 48y =5 H TIE FA T4

Tlﬁ (x,y} Eﬁ! :ﬁﬁ x,_}'w %, 'FhEﬂT
forait 2 2 _

(@) *AF
(b) TF -
(c) i |

(@) ¥

A AR x Ry T R F

ﬁ%xw%ﬁ'{y'ﬁm%lﬁ'ﬁﬁfﬁaﬁ
Fat # w wr/d wh 2/ 0

L (y-x) TF SAYUNG B OGSl @ |

2. xy T EAQIE O ww R0
3. 0-5(x + y) T GHYUIS & "l § |

AR R T g W WA AR EE I
(a) F9a 132
(b) Fa¢ 2 3R 3

(c) ¥ 1 3R3 |

) 1,28R3

- 23,

2sx<1,

24.

A @Y x 3Ry T OTER F g
gﬁﬁx}y%}wmﬁ3x+2y3ﬂ'{
2x+3y® 5 Fwfe e s @
FAM: 2 AR 3 WEA g | oW
(x—y) @ 5% frefor feren st At S

E A7 :

(@ 4
(b) 2
(€ 1
(d O

s A H 4, BIRCHT AT &N 4, B
! 30 m WY BIg oW &, B, CF 20m
S @I o ® AR 4, CH 48 m OB
e 31 2 | Peafafa F 2w w /2 wd

R/E7

I 9% A F=E 300m?e |
2. A4, BERCH I 50:45:42 %
o # €|
™A ™ g W o W ES I
ﬂﬁ.&': . . o
(a) Fad |

C (b)) FEE2
@ 13R23

e

(@ FAL T2 |
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25.

L © -

26.

2?.

If the roots of the quadratic equation -

X' —4x—log, N'=0 are all real, then the
minimum value of N is

|

(a) 100

|
® o

1

1000

(d 10000

A motor boat, whose speed is 15 km/
hour in still water goes 30 km down-
stream and comes back in a total of
4 hour and 30 minutes. The speed of the
stream is

(a) 4 km/hour
(b) 5 km/hour
(c) 6 km/hour

{(d) 10 km/hour

If 4 men working 4 hours per day for
4 days complete 4 units of work, then
how many units of work will be
cornpleted by 2 men working for 2 hours
per day in 2 days ?

(@) 2

b 1

1
(c) ‘2-

@ 1

B-ABVB-O-GPU - A

S ————

10

" 28.

29.

30.

By increasing the speed of his car by
15 km/hour, a person covers 300 km
distance by taking an hour less than
before. The original speed of the car
was

(a) 45 km/hour
(b) 350 km/hour
(&) 60 km/hour

(d) 75 km/hour

If m persons can paint a house in d
days, how many days will it take for
(m+2) persons to paint the same’
house ? ' :

(2) md +2

(b) md-2

m+2

© md

md
m+2

(d)

If a:5=3:5 and b:c=7:8, then
2a:3b:7c is equal to

(a) 42 ;105 : 320
(b) 15:21:35
(¢) 6:15:40 -

(d 30:21: 350

https://www.pyqonline.com




25,

26.

gfe foama aeieor 2 - 4x - log,,N = 0%

Tt 7w At g, EhNaﬂT{-mm
TR 7

@ —

(@ 1000

qm,ﬁaﬁ'rz, et - aR gu o
15km /=21 €, arr # far # 30 km 9
# oK g 492 s 30 fire 3 ama ot

C B ywy & 9 T Rt

27,

(a) 4 km/%eT
(b) 51@/5&27

(¢) 6 km /w2

(d)- 10 km /T

afe 4 =t wiafer 492 = =&, 4fea
i 4d 8 g wa € @ 3 @kE

oo wff Ay, 2 B R

T FE G ?

{a) 2

b 1
. i
(© E

@

SO | s
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28.

ﬁmwﬁﬁ AT FR T lskm/:da

TG R 300 km N G F T it G

# UF Hel W GHA H 99 T B | IR

$t 7 = v bt ?

(a) 45 km /9T

(b) 50 km /H=2

(c) Gﬁ-lu'n/‘EiET

Co (@ 75 km /R

29.

Hﬁmsﬁﬁﬁ@:a—aﬁdﬁﬁﬁwaﬁ
U £, Eﬁ(m+2)mﬁm‘i%ﬁaﬁa{ﬁ—a

- w F e fo3 e e

(a) md+2

() md-2

30.

m+2
md

(©

md
m+2

(d)
Ilﬁ a:b=3:5 Sﬁ'{'"b:c=?:8, @
2a:3b:7c foma ST & 7

(@) 42: 105 : 320

®) 15 -..21 235

© 6 15 : 40
(d 30: 21 : 350
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31. Two trains, one is of 121 m in length

at the speed of 40 km/hour and the

 other is of 99 m in length at the speed
- of 32 km/hour are running in opposite

directions. In how much time will they
be completely clear from each other
from the moment they meet ?

34.

.Which one of the following is correct 7

{a) (x+2)is a factor of
Cxt -6+ 128 - 24x+ 32

(b) (x+2) is a factor of
A6 - 128 + 241 — 32

(¢) (x—-2) is a factor of

(@) 10 s X -6+ 122 - 24x + 32

b 1ts - (d) (x-2) is a factor of

© 16 ©x 6 - 127 + 24x- 32

@ 21s 35. 20% of a number when added to 20

becomes the number itself, then the

32. Three athletes run a 4 km race. Their number is
speeds are in the ratio 16: 15: 11. When 2
the winner wins thel race, then the (@)
distance between the athlete in the ®) 25
second position to the athlete in the third .
position is ' (c) 50
(2) 1000 m (d) 8o
(b) 800 m i : .
- 36. Consider the following statements :
(¢) 750 m |
1+ tan?@ 1—tanl5')2 .
. = : is true for
(@ 600 m © 1+cot?0 (ll—cntﬁ' -
- . ) T
33. The sum of first 47 terms of the series all 0<6<? B#E-
11 1 1 1 1 1 1 1 )
—t——_———— —t—F—=———_... 18 -
4 56 456 4 56 | 1 |
; 2. cot@ =——— is true for 6 = 45° only.
(@) © tand -
' Which of the above statements is/are
(b) _._1 correct ? '
} 6 -
(a) 1 only
1
(c) 5 A, (b) 2 only
(c) Both 1 and 2
@ — -
20 (d) Neither 1 nor 2 _
B-ABVB-O-GPU — A’ 12
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- 31.

2 twmfl, ww e F=E 121 m R,
40 km /921 fr 919 ¥ ok g, R
=T 99 m ¥, 32 km/¥a1 R A
o Rl # o1 @ ¢ o frem
F w1 A, T o A 3 T qEd A

- wE ¥ U w s ?

32

(a}_ 10 s

®) 11s
(c) 16s

(d 21s -

. T faegt 4 km Y s e € | IR

34

35.

Frafafan # & = ar = m;"f 2
@) e 68+ 127 —24x+ 32
I T U (x+2) R
(B) ¥+6d-120+2x-32
1 T IR (x+2)
() x*-6+ 122 -24x+32
& % OGS (x-2)®
(d) x*+6°—1267+24x-32
=T U UGS (x-2) 7

afy fedt wEm ¥ 20% F 203 WA W
MR

: =l 16015 : 113 agaa # & | 9= fma (@) 20
H 3 ST W ®, @ R R A wmW ® 25

R oo faenfed AR @ i 7 © %

, (a) 1000:11_' @ 80

l. (b) 800 m

36. Freafufes st ) fmm i
() 750 m .
1+tan’@ (1-tané 2 s
. .(d) /600 m 1, 1+cotze‘[1 mtﬂ],
. | |
' 33.aqﬁ— Sl 11 0<9<5 ei_a:ﬁmmgl
4 5 6 456 456

_#?Wﬁqﬁwwm%'? 2..cot- %ﬁ’lﬂ p
@0 a4 2 |
Ol s wt & A A/ v /g

6 f
| (a) Faa 1
© % () ¥ 2
(¢) 13k 23

@ — _ -

N 20 (d Farl, T2

13 B-ABVB-O-GPU - A
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37. If .r acos@ . and y= bcot@ then
(ax™ —by Nax™ + By is t‘.qual to

(a) 0
) 1
(c) tan’@

@ sin’e

38, costd

— is equal to [where 6 # E]
1-sing 2

tang -1

@ tan@ +1"

1+sin@
- cos@ -

(®)

tanf+1

© o1

1+cos@
sing

@

“39. If _ :
tan(x + 40)°tan(x + 20)°tan(3x)°tan(70 -

then the value of x is equal to
(a) 30

® 20
) .(c) 15

(dy 10

B-ABVB-O-GPU - A

2)°tan(50 - x)° = 1,

.14

[ ——

4l] If @ is an acute angle and sinfcosf =
208’0 —1-5c0sd, then what is sing

cqual to?
o
(b) l:;—g
@ _\644.1'

- 41. Consider the following statements -

1. 51'1166_° 15 less than co$66°.
2. s1n26° is less than c0s26°.

Which of the above statements is/are
correct ? .

(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
42. If a and b are positive, then the relation

2a+3b

sinf = 18
3b

(a) mot possible
(b) possible only if a =5
(c) possible ifa>5

~ (d) possible if a<b -

https://www.pyqonline.com




37.

38.

HUR

39.

?Iﬁ;":c=a~cn.§3 IR y=4coth @
(ax™ — byj')(ax“l-J- by ™) fFass s 8 7

@ 0
® 1
(¢) tan’0
(d) si}lza :

cosf
| —~siné

(ﬁ%‘f 6#%) 5% R 7

tanf ~1
tan0 + 1

(a)

1+sin@ -
cosf

tané +1
tan6-1_

(©)

'.1+cosi?

d
@ sm@

ufe

Atan(x + 40)°tan(x + ll’{})”!an(BxJ:’tan('ﬂl’l} -

x)°tan(50 - x)° = 1,
A xH A W § '
(a) 30

(b)

(o) 15

@ 10

15

40.

gfe 0 T eEl e 3R sinGcosf=

2058 — 1-5¢0s6, Al sing feredh =R

27

41.

42,

(a)

()

©

@ -

frafrfian @t w few i -
L sin66°, cos66° A T & |

2. sin26°, cos26° § FH § |
S F A @ A W/ w8

(dj AT, FE2

afy g Rk b grregs  dt dEy

<ing = 2a+3b

(a) #ua T 2
(b) aﬁa_aﬁ#ﬂa%mwb

(c) @ R afy a>b

(@ @ R AR a<h
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43.

- 45° respectively.

44.

45.

An aeroplane flying at a height of
3000 m passes vertically above another
aeroplane at an instant when the angles
of elevation of the two planes from
some point on the ground are 60° and
Then the vertical
distance between the two planes is

(a) 1000(@ - 1) m

(b) 1000+3 m
(©) 1000(3-ﬁ)m
(@) 3000/3m

A pole is standing erect on the ground
which 1s horizontal. The tip of the pole is

tied tight with a rope of length vi2 m to

a point on the ground. If the rope is
making 30° with the horizontal, then the
height of the pole is

(a) 23m

) 3Zm
(c) Im

@ im

If tan® + sectl =2, then tan® is equal to

B .

; 3
(a) :1

®) 2.

b |2

(©)

(@

B-ABVB-O-GPU - A
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46. A’s salary was increased by 40% and

47.

48.

then decreased by 20%. On the whole
A’s salary is increased by

(&) 60%
by 40%
(c)y 20%

(d 12%

A number consists of two digits, whose
sum 1s 7. If the digits are reversed, the

. number 1s increased by 27. The product

of digits of the number is

@ 6

" (b). 8

(c) 10

@ 12

In a race of 100 m, 4 beats B by 4m
and A4 beats C by 2 m. By how many
metres (approximately) would C beat B
in another 100 m race assuming C and B
run with their respective spcads as in the
earlier race ?

(a) 2

(b)) 204

©) 208

@ 32
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43.

'3000maﬁr€ﬁ1§qrmgmwm
& I A AT R qE QA AR A

e ¥ ft g & A 60° oK 45°

& goEE Fu W €, @ I @ See
F dw F smhR g R |

| @ 1000(3-1) m

44,

() 100083 m
(©) 1009(5—«.:’5) m

(d) 300043m

s @ @fee sRae ) At 2 | @d
&1 9 /12 m e i T T} e
¥ fret g B O W Fw T 2 | AR
R, AR & 300 F F w @O,
Al @d i e W g ?

(@ 2+3m
() 3+v2m

{(¢c) 3m

\ @ +3m

45,

af tanf+ secf=2, ?ﬁtan& o TR
3? '

(a)

Blw

(b)

(©)

ol Bl

GV

3| LA

17

46.

47,

Aaﬂaaam%mw IR e 20%
WW1FWAETWW
ag'[?

(a) 60%
() 40%
(c) 20%
@ 12%
o o @ 9 4, o
7281 3R = F WA wER T fu

wrd |t wen # 27 fi 3fg B I R
HE & A F OIS H# R

(a) 6

() 8

48.

(¢) 10

@ 12

100m®E & SR H, 4 BF 4mMD

AR A CH 2mTD B

ot 371 100 m it e #, 2% 7 T
s ¢k B gt 6 I A e § A
el o5 | 4, Cﬂaﬁﬁ:aﬁ:ﬁaw
T2 srem 7

(@) 2

(b) 204

(¢) 208

d) 32
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49, In an election 10% of the voters on the’

50.

51,

voter list did not cast their vote and
60 voters cast their ballot papers blank.
There were only two candidates. The

winner was supported by 47% of total

voters in the voter list and he got 308
votes more than his rival. The number of
voters on the voter list is

(a) 3600

(b) 6200
(c) 6028

(d) 6400

Consider all positive two digit numbers
each of which when divided by 7 leaves
a remainder 3. What is their sum ?

(2) 661
(b) 666
() 676 .

(& 777

A pipe with square cross-section is
supplying water to a cistern which was
mitially empty. The area of cross-section
is 4 cm’ and the nozzle velocity of water
ts 40 m/s. The dimensions of the cistern
are 10 mx 8 m x 6 m. Then the cistern
will be full in

(a) 95 hours .
(b) 9 hours
{c) 8 hours 20 minutes

(d) 8 hours

B-ABVB-O-GPU - A

52.

53.

A hollow cylindrical drum has internal

diameter of 30-cm and a height of 1m.
What is the maximum number of

cylindrical boxes of diameter 10 cm and

height 10 cm each that can be packed in

the drum ?

(a) 60
() 70
(c) 80

d 90

The 'speeds of three buses are in the
ratio 2:3:4. The time taken by these
buses to travel the same distance will be

" in the ratio -

54.

(@) 2:3:4

(b) 4:3:2

(c) 4:3:6

- (d) 6:4:3

A square and an equilateral triangle have
equal penmeter. If the diagonal of the
square is 1242 cm, then the area of the
triangle is

_ {a_)- 24\3’2- cm’

(b) 2443 cm?

;(c] 483 cm®

@ 6443 om?

https://www.pyqonline.com
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49.

%mﬁm@%lﬁ%maﬁ
Y s w A I R 60 wagwa A
o wawA F et 818 | Faw @
IHEaR 7 | FRrar & wacr g3 % §9

AT F 47% H GwdT e AR S

A wigger ¥ 308 5w At 9™ T |

wagrar gt # waernet & den R

3

(a) 3600
(b) 6200
(c) 6028

() 6400

50.

51.

A It fr Il e g |
e i, fm & @ vl w1 73
forore oA ok AW 38N | ITH BT
e ?
(2) 661
(b) 666
©) 676

@ 777

THER FTRT IR=g a1l TF T 0

5.

s 3, ot fr s # @ 9, e

afd Fxar # | sgwed aR=0g @ awe
4em® ® 3 TFEl F gE aw (A

Jad) 40 m/s &1 @ A Fwmd

10mx8mx6m & | A a5 & fhan
T’ R ?

(a) 95 =21

(b)'gtiz% |
(c) 8 =21 20 foFe
d 89

19

52.

T QT AR G F HEE T
30 cm R 39T 1 m® | Wl 10 cm T
3R lOcmﬁﬁﬁWaﬂﬁﬁ,
= fF g0 & W@ w1 v €, st gen
T g7 |

(3 60
(B 70

(c) 80

@ 90

ﬁaaﬁﬁﬁz:s;ﬁ A # ¥ |
T AT R WA G T FA § A el

wa few sqoa & B ?

(@) 2:.3:4
(b) 4:3:2
(¢) 4:3:6

@ 6:4:3

m._@ﬁﬁ@mﬁﬂﬁaﬁw

M 2| gkt = F=1 el 1242 em

@ B o dAww R 7
(a) 2442 cm®

(b) 244}3 1::1.112

(c) 483 cm?

(@ 6443 com’
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55.

56.

A boy is cycling such that the wheels
of the cycle are making 140 revolutions
per minute. If the radius of the wheel is
30 ¢m, the speed of the cycle is

(a) 155 Y/ hour

(b) 15-84 km/hour

~{c) 16 km/hour

(d) 1636 km/hour .

There are 437 fruit plants in an orchard
planted in rows. The distance between
any two adjacent rows is 2 m and the

distance between any two adjacent

plants 1s 2 m. Each row has the same
number of plants.- There is 1 m clearance
on all sides of the orchard. What is the

cost of fencing the area at the rate of

Rs. 100 per metre ?

(a) Rs. 15,600

() Rs. 16,800

(©) Rs. 18200

| (d)._ More information is rcéluired

57.

ABCD is a parallelogram with 4B and

AD as adjacent sides. If £A4=60° and
AB = 24D, then the diagonal B will be.

equal to
(a) 24D

() 34D
(c) 24D

(d) 34D

B-ABVB-O-GPU - A

58.

Tt

The point O is equidistant from the three
sides of a triangle ABC. Consider the
following statements :

I. ZOAC + ZOCB + ZOBA=90°
2. ZBOC=2£BAC
3. The perpendiculars drawn from any

point on OA to AB and AC are
always equal

- Which of the above statements are

39.

correct 7
(@) 1and2 only

() 2 and 3 only

{c) 1 and 3 only

(@ 1,2 and 3

Consider the fu]]owing statements :

L. If the height of a cylinder is
doubled, the arca of the curved
surface is doubled.

2. If the radius of a hemispherical

solid is doubled, its total surface
area becomes fourfold.

L

Which of the above statements is/are
correct 7

(a) 1 only
{bj 2 only
{c) Both 1 and 2

(d) Neither I nor 2

https://www.pyqonline.com




55.

56.

57.

N

%mﬂmmwm%ﬁ

“mmfea % ufed 140 i afa fime @

mﬂ%1aﬁ-qﬁﬁiﬁﬁﬁ30cm%ﬂ
e & ww o 27

(a) 155 km /%=1

(b) 1584 km /52T

(¢} 16 km /9T

(d) 16:36 km /=T

w wR A 437 5 F A dfedt @

w1 Tt <t Freread il &
st i g 2 m R Rl St Pt et

& S S g 2m R | v e o ot
R TEE T | e oW @ 1 m

&I AT ® | T 100 wia Wex & R &,
T 8 U A3 T A @1 e 7

(a) % 15,600
() ® 16,800

©) & 18200

- (d) afers gEem Y sy €

ABCD WF §aiR wgw ¢ Fweht 4B
#R ADTew qod € | afe 24 = 60° AR

AB=24D, M fawef 8D frd =

BT 7
@) V24D

®) V34D
(c) 24D

(d) 34D

21

38.

fog, 0w By ABCH A st A
Hﬂagw%l freafafes @t w faaw

I. ZOAC + LOCB + ZOBA =90°

2. LBOC=2.BAC

3. ABHR ACR O4% foreil forg B €1

T T W g B

I wEE B R ow /R wd g/

(a) a1 3R 2
(b) %ﬁazﬁtz_
(c) F==113R3

c(d) 1,28R3 .

59.

frrfafin et < Fraw B

L aft o ¥ B I A T
- St R, T Y8 HT e G
S ?1

2. af wF anfiira B & B A
# It g, AV WE F9 I8 SABA
IR AR S #

mmaaaﬁ%m/éﬁr%/i? -

(a) el 1

(b) FE2

(c) 13ﬁzza‘|=ﬁ'

@ AWML, AR2
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60. A large water tank has the shape of a-

61.

62.

cube. If 128 m® of water is pumped out,
the water level goes down by 2 m. Then
the maximum capacity of the tank is
(2) s12m’

(b) 480 m’

() 324 m’

(d) 256 m’
The cifcumferem:e of a curcle is 100 cm.

The side of the square inscribed in the
circle is

(a) 5042 cm
.10
® 2 em
T
5042
(c) —— cm
T
1002
(d) v cm
From the solid gold in the form of a

cube of side length 1 cm, spherical solid

balls each having the surface area

7' cm? are to be made. Assuming that

there is no loss of the material in the
process of making the balls, the
maximum number of balls made will be

(@) 3

) 4

© 6

@ 9

B-ABvB-o-GPU -~ A

22

63

64.

Water is filled in a container in such a
“manner that its volume doubles every
5 minutes. If it takes 30 minutes for the
container to be full, in how much time
will it be one-fourth full ?

(@) 75 minutes
(b) 15 minutes

(¢} 20 minutes

(@ 175 minutes

30 metallic cylinders of same size are
melted and cast in the form of cones
having the same radius and height as
those of the cylinders.

Consider the following statements -

;A maximum of 90 cones
will be obtained.

Statement [

: The curved surface of the
cylinder can be flattened
in the shape of a rectangle
but the curved surface of
the cone when flattened
has the shape of triangle,

Statement ]

Which one of the following is correct in
respect of the -above ?

(a) Both Statemcnt I and Statement II
are correct and Statement I is the
correct explanation of Statement 1

(b) Both Statement 1 and Statement II
are correct and Statement Il is not
the correct explanation of Statement |

_{c) Statement [ is correct but State-

ment 1l is net correct

(d) Statement 1 is met correct but

Statement II is correct
L)
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60,

UF FE OUHT A I F HSR TF

o FR | af T A 128 m® et TR P

61, TF
s e a0

- 0

()

62.

STy 8, &t 9T @ R 2 m A ST S
2R wftean awa w2 2

(a) 512 m’ /
(b) 480 m’
(©) 324m’

(d) 256 m*

Fa &t afdy 100em B | 997 W
(@) 5072 cm

100
—— cm
/4

- 5042
cm

F(3

100-/2
Fi

(d)

cm

1 cm Wil YT & U9 & AFR & 319 aF
¥ 3 maER e, e gds @ g8

ged 7' em? ®, S A € | AR AEY

g % W amm it 5@ ufew F am A

IS T TE BN @, I A Y safrman

e B ?

(a) 3

®) 4

) 6

@ 9

23

63.

64.

et o= 3 ol @ R W e 2
f& 5% 5 fime ® <wan wmaeA S &
s @ 1 3Rk fes = qo WA # 30 fme
TS 8, a’r?qﬁﬁmﬁagqmﬂm{

RIS 2

(a) 7—5%32
® 15 fre
(c) 20 frme
(d) 175 fire
30THH RFR & 417 F So e 9
g AR e Ht frem R I & =

%waﬁtaa'r{mﬁaagaﬁ%mﬁ
HEREICIS :

frfafaa w97t ® for $ifimo -

o 1 aftreaw 90 i W SR |
w1 :'émwmgqama%‘
HR ¥ TaTe fEar @ W
? TG T TS T G
fm s @ @ B W
AFR AT B
-.-'eqvg%ﬁ%sﬁaﬁﬂﬁm%ﬁmﬂ%ﬁqm
T oEE R

* (a) wuﬁ{mna‘m’iw’r%aﬁi

F9 [ F99 [ § §81 =re 8

(b) FaA | 3R w97 11 ST 9 © ok
amauaﬁaﬁ'lzﬁaﬁwmaﬁ
&

(c) w1aﬁ%?ﬁmaﬁwnaﬁ
SE .

(d) Wlﬂﬁfﬂﬁf%%wu
et g

" B-ABVB-O-GPU — A
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65.

An equilateral triangle BOC is drawn
inside a square ABCD. If angle
AOD = 26, what is tanf equal to ?

(a) 2-+3
©) 1+

(©) 4-+73

66.

: '(a)' 1%

67.

- (a)

(d 2++3

The diameter of a wheel. that makes
452 revolutions to move 2 km and
26 decametre is equal to

=

(b) 132 m
), 22 m

@ 2Z m

If X is. any point within a square ABCD
and on AX a square AXYZ is described,

which of the following is/are correct ?

1. BX=DZ or BZ=DX
2. ZABX =ZLADZ ot LADX = £LABZ

Select the correct answer using the
code given below :

| only

(b) "2 only
(¢) Both 1 and 2

(d) Neither | nor 2

B-ABVB-O-GPU - A
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68.

69.

70.

The two adjacent sides of a cyclic
quadrilateral are 2 cm and 5 cm and the
angle between them is 60°. If the third
side is 3 cm, then the fourth side is of
length -

(a) 2 cm
(b) 3 cm
(c) 4cm
(d) 5cm
Let A denote the set of quadrilaterals
having two diagonals equal and bisecting
each other. Let B denote the set of

quadrilaterals having diagonals bisecting
each other at 90°. Then ANB denotes

(a) the set of parallelograms
(b) the set of rhombuses
tc} the set of squares .

(d) the set of rectangles

A square is inscribed in a right triangle .

with legs x and y and has common right
angle with the triangle. The perimeter of

the square is given by

@ 22

®) 2

‘(c) E—L—

@)
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65.

66.

67.

w wwaE AR BOC w S ABCD
¥ i e e S 2 | Az
AOD =28, ?ﬁ 1an9ﬁ=‘€lﬁimﬁ"ﬂ?

(@ 2-+3-

) 142

© 4-+3
@ 2++3

& sfed @1, S 6 2 km 3 26 TEnie
A H 452 TREFHOT FA R, A AR ?

@ 12 m
® 14 m
© 28 m
@ 2% m
X, 7 ABCD e 9 g 2 dk ax

R T T AXYZ R fmf Rear s @
fr=fafaa # q I W/ Ed /R

L BX=DZT BZ=DX

2. ZABX =/ ADZ T LADX = / ABZ

_ﬁ%@@@mmma@m

(a) A |

(b) e 2

(© 18K 2 s

@ AR,

68.

69.

70.

© __ffr_'

T T T B e 9T 2 om
ﬁ?Scm%aﬂ?GﬁaTﬁﬁiiﬁi‘ﬁﬂﬂﬁﬂT
60° ® | A gaig T 3 cm &, A wgd
qT H FETE F g 7

(a) 2 cm. |

() 3 cm

(c) 4 cm

@ 5 em

A TG A7 et & wg==a = ek
¢ Frd Ot frael w7 § ok @
@ feafm & & | wm &fm B
TS & e w gatar @ ok fef
T g Wl 90° & v W fmfva =

R @ A8 gyt R 7

(@) Wi v W
(b) wFEGHST H W
() o 1 wg=a

(d) BTTﬂ'tﬁEh‘rﬁ'ﬂﬁ'ﬂ

o T, xR y G A
Pt & s R T 2 R et

F BRI SR T B gawI IHARE |
Tt 1 oi w4 @ ?

2xy

(@)

x+y

o) 2
x+y

(d) =

-~ B-ABVB-O-GPU — A

https://www.pyqonline.com




71, From a rectangular sheet of sides 18_'n:n1 _ 74. The areas of three mutually perpendi-
and 14 cm, a semicircular portiqn with cular faces of a cuboid are x, y, z. If
smaller side as diameter is taken out. . V 1s the volume, then xyz is equal to
Then the area of the remaining shect '
will be (@ VvV

VZ
(a) 98 cm’ ®)
' . (© 2
100 cm’
® d 21’
(© 108 cm’

_75. Let V be the volume of an inverted cone
(d) 175 om? . ~ with vertex at origin and the axis of the
, cone is along positive y-axis. The cone is
. -filled with water up to half of its height. -
72. ABCD is a square. If the sides AB and - The volume of water is
: CD are increased by 30%, sides BC and ' '

AD are increased by 20%, then the area (a) K
of the resulting rectangle exceeds the 8

‘area of the square by
' . ' . . V
(@) 50% _ (b? 6
(b) 52% ©) v
3

c) 54%

(c) 54% o v
2

@ 56%

- 76. Three rectangles R,, R, and R, have the
same_ area. Their lengths x, x, and x,

- respectively are such that x, < x, <x,.

If V,, ¥, and V, ar¢ the volumes of

the cylinders formed from the rectangles

'Ry, R, and R, respectively by joining the
parallel sides along the breadth, then
which one of the fol'lowing is correct ?

73. A water tank, open at the top, is hemi-
spherical at the bottom and cylindrical
~above it. The radius is 12 m and the
capacity is 33127 m’. The ratio of the
surface areas of the spherical and
cylindrical portions is '

@ 3:5 . .
: (a) V,<V, <V
() 4:5 (b) ﬁ,«: v, < ¥,
© 11 @ hen<,
-(ci) @:.5 - L@ V<V <
B-ABVB-O-GPU - A 26
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71.

72

18 cm 3R 14 e Y 5T1ait et svaTER
TR A, BIA YT F) A AR T A
a1 e foamen s @ 1 A o g W
Em's?mﬁw a‘m?_

(@) 98 cm®

(b) lﬂﬂl-cmz

(¢) 108 cm’

(d) 175 cm’®

. ABCD ' = & | 7R smait 4B 3k ¢

# 30% 3fg & s, sEa Be sk 4D
H 20% Ffg #t sy, & aRomh s =

| Wﬁ#_mammw ?

(a) 50%
(b) 52% .

(c) 54%

 (d). 56%

- T3

TF urt Ht T TR R get 8, A A
ﬂ&ﬁﬁﬁéﬂ(mﬁml{%aﬂaﬁ
e 12m R o s 33127 m® R
ﬁmaﬁtw%ﬂﬁ%gﬁwm
T OIAYE ¥ g7

(a) 3:5
(b) 4:5
() 1:1

(@ 6:5

74. T A F A TR T el ¥ AT
xy,z%lqﬁm?ﬁb’% Fﬁxyz%ﬂ'&-
TR R 7
(@ Vv
®) ¥*

(c) 2V

d 207

75. W Wi 6 yefig ® o 9@
- wicati@ oiF # sme v &k dg @
Y YATHE y-38 & e 8 | oF @t
Eﬂﬁmﬁﬁéﬁqﬁ%wmél

It @ e R 2
V

(a) E

&

(©)

@

NR W e

76. W AT R, R, 3R R, % et @
2 | I darEat xl,x23ﬁt x,
TaR & 5 ox <x <x® | R
R\, R, 3R R, 1 N7 arelt Wi gt
- H TR A T AT F AT HE
SV, Y, RV, E a“tﬁmr%fﬁaaﬁ%aﬁq
mkﬁﬂ‘é‘%? |
@ V,<V,<V,

b) Vi<V, <V,
(c) V<V, <V,
@ v,<V, <,

27 - B-ABVB-O-GPU - A
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77. If the surface area of a cube is 13254 ¢m®,

78.

79.

80.

then the length of its diagonal is
() 4442 cm
(b) 4443 cm
(€) 4742 cm

@ 4743 cm

The area of a trapezium is 336 cn’. If-

its parallel sides are in the ratio 5: 7 and
the perpendicular distance between them
is 14 cm, then the smaller.of the parallel
sides is

(ﬁ) 20 cm
®) 22 cm .
(¢) 24 cm

{d) 26 cm

How many spherical bullets each of
4 cm in diameter can be made out of a
cube of lead whose edge is 44 cm ?

(a) 2541

‘() 2551

(c) 2561
(@ 2571

A river 2-5m deep and 45 m wide is
flowing at the speed of 3-6 km/hour.
The amount of water that runs into the
sea per minute is -

81.

82.

A _ - M B

AB is a line segment of length 2a, with
M as mid-point. Semicircles are drawn
on one side with AM, MB and AB as
diameter as shown in the above figure.
A circle.with centre O -and radius r is
drawn such that this circle touches all
the three semicircles. The value of 7 is

(a)
(®)

(c)

-

R wla PR "*’lts?

@

B

From an extemnal point P tangents PA
and PB are drawn to the circle as

shown in the above figure. CD is the
tangent to the circle at £. If AP =16 cm,
then the perimeter of the triangle PCD is

(a) 6650 m’ equal to
(by 6750 m’ g; 24 em-
- 28 cm
(c) 6850 m® © 30 om
(@ 6950 m’ (d) 32 cm
lB-ABV_B—O-GPU -A : 28
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77.

78.

79.

80.

qﬁ@‘ﬂ?ﬁﬂﬁﬂ%ﬁlﬂﬂcﬁi
2, @ S fael ) dard 7 2 7

{a) 4442 em
(b) 4443 cm
{c) 45‘#’2 cm

@ 473 cm

G e 1 G 336 om’ B | af Taeht
TR T 5 1 7 F e & § ok o
ﬁ?ﬁm@a‘a@ 14cm B, a a@mER
Tt # R B g A =g P
(@ 20 cm
() 22 cm
(¢) 24 cm

(d) 26 cm

9 & s 97 A/, Skt s aaem g,
4 cm=ma B et Midtn Mt =
ST gFAl © 2 '

(a) 2541

(b). 2551

(c) 2561
(d) 2571

25 m TR R 45 m <K} vF 7R 3-6km /

g2l # YRR ¥ &8 W R | a1 9e

aftmor <t fs g # whifiee @ < 2,
o

(a) 6650 m’

(b 6750 m’

() 6850 m’

(d) 6950 m* *

81.

A M B
AB FETE 20 F1 UF YaTEs 2, frwar v
fog M2 1 St i o B & quriar
R, W F T TF AM, MB IR AR F
ST W wedqm g 9 £ | 37 09k
Bt r 1 F 39 W weR @ W
2 5 7z 9 o et et A e e
Bl r & W W R 2

(a)

2a

®)

(c)

R wla e,

(@

qaqaqi,-f&:a"rarsﬁﬁqpﬁ;mf-
@ p4 3R PR dEiSt W €, S R

IR At T d 1 W ¥ g £
R CD & wfar 71 aft 4p=16em
a P PCD &1 afem w2 2
(a) 24 cm -
() 28 cm
(¢) 30 cm
d 32cm
29 B-AB‘;”B-O-G?U -A
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83.

In the above figure, ABCD is a parallelo-
gram. P is a point on BC such that
PB:PC=1:2, DP and AB when both
produced meet at 0. If area of triangle
BPQ is 20 square unit, the area of
triangle DCP is -

(@) 20 square unit
(b) 30 square unit
' (¢) 40 square unit

(d) None of the above

84. Chord CD intersects the diameter AB of

a circle at right angle at a point P in the
ratio 1 : 2. If diameter of ci_rclc is d, then
CD is equal to

(@) =2
® =
@ 22

@ —

B-ABVB-O-GPU - A

85. A circle of radius r is inscribed in a
regular polygon with # sides (the circle
touches all sides of the polygon). If the
perimeter of the polygon is p, then the
area of the polygon is

@ (ptny
by @p-nyr

P
© Z

(d) None of the above

86. The LCM of two numbers is 12 times
their HCF. The sum of HCF and LCM
1s 403. If one of the numbers 1s 93, then
the other number is

(@) 124
) 128
(©) 134

@ 138

87. The value of (0-63+0-37) is
@ 1

100
(b) oL

100
c, -
_{) 09
1000

. @ 999

30
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84.

SR 1 & ABCD U v Wm0

PBCR s fog ™ wor ¢ f&
PB:PC=1:2% | DP3R ABTHI sg1q
s QR e € 1 af Baw g

1 & 20 % 5 ®, @ frew Dep

& NET w1 ¢ 7

(a) 20 T

() 30 =

(c) 40 TFE

@ vEER AR

ST CD @& 99 F =W AB @ fig P
R ARH T 1 : 2% Fgu 3 wfeske

EREIAG T mEm 4R, D

. (a)

fras s €7

b) —

© 2L

@ ===

" 85,

86,

87.

®)

(d)

# ST T TF aHegs § B - @
T e GiHT T R (A A
st @1 wsf awan ) | afe wgye @
AT p 2, T AW GG R 7

(a) (p+nyr
() 2p-—njr

or
(c) 5

@ I A e

gl HEAw F1 LCM 9% HCF &7 12 7
2 | HCF 3R LCM &7 29 4038 | i
aqwaﬁﬁﬁqm%% a‘r@ﬁm
| R 7

(a) 124
b) 128
(Q;) 134

@ 138

(G-E+0-3_?I) ] OUH wT L7
(@ 1

100
.91

100

(c) -59—

1000
999
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88. A sum of Rs. 10,000 is deposited for " 92. The minimum value of

- 1 year at the rate of interest 10% com- cos’x +cos’y - cos’z
_pounded half yearly. What will be the is

interest at the end of one year? ' R

a)  —

(a) Rs. 1000 (= :
" () Rs.1025 | - B0

© Rs. 1050 (@1

(d) Rs. 1100 E T @ 2

89. In a mixture of milk and water of 93. The value of
volume 30 litre, the ratio of milk and ) : : -
water is 7 : 3. The quantity of water to 3260(2(£]—83&2[£)+8-2083(E) '
be added to the mixture to make the . \4) 3 Lﬁ

* ratio of milk and water 1:2 is

is equal to
(a) 30
(a) 3
b) 32 |
(©) 33 - | ®) 243
@ 35 | © 3
90, The difference of maximum values @ 33
of the expressions (6+ 5x—x) and
(y—6—3") for any real values of x and
y 15 ' : 94, If xa-ﬂ then the value of
: : ' : 216
(@ 16 _ 1
® 17 amon
{c) 18 |
_ o o
d 19 (@ -
- ) 5
91. A clock is started at noon. By 10 minutes 5
past 5, through what angle, the hour hand ) =
moves ? https://www.pygonline.com -9
(a) 160° 4-
© 2
(b) 145° 9
(c) 150° 4
(@ 155° | @
B-ABVB-O-GPU - A 32
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o mem e =

88.

89.

2.

91.

aﬁaﬁaﬁﬁmmﬁmﬁllﬂ%ﬁﬁ'
=W H W W E 10,000 H afs |3
&.fom s it ot ? | ww wd F o

A = w e B

(2) %. 1000
) & 1025
(c) & 1050
@ =1100

T AR T F e % 30 s s

# qy 3R et @ w73 0 e
wex it R fram w fasor § gu ok
qET FT AT 1:2 T SEm ?

(@) 30 |

®) 32

{c) 33

@ 35

AHl (6+5x-x") R (y-6-y") F
Aftmaw WAt & e W R 7

(a) 16

by 17

(c) 18

(dy 19

wF TR W W ¥ g forar mn
& | sEER 10 firme a3 2 6 f fea

. I gEIT ?

(a) 160°

(b) 1450
(€) 150°

@ 155°

33

92.

93.

cos’x + cos’y —_coszz &l ~gAdH Hid H®T

27

.{a)l -1

® o
(c) 1
@ 2 -
(o]

4 A3 6 .
& A fhEd s g7

@ 3

® 243

94.

() 3
@ 313

afe x='ﬂ taty-—L mmam
216 [I-X}Iﬂ

R ?

(a)

| o

(b)

(c)

b= =

(d)

AR
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95.

96.

97.

How many right angled trian'gles can be
formed by joining the vertices of a
cuboid ?

(a) 24
(b) 28
(c) 32

(d) None of the above

The average weight of students in a
class’is 43 kg. Four new students are
admitted to the class whose weights
are 42 kg, 36'5 kg, 39 kg and 42-5 kg
respectively. Now the average weight of
the students of the class is 425 kg. The
number of students in the beginning was

(a) 10
() 15
(c) 20

@ 25

Four years ago, the average age of
A and B was 18 years. Now the
average age of 4, B and C is 24 years.
After 8 years, the age of C will be

(a) 32 years
(b) 28 years
(c) 36 years

(d) 40 years

B-ABVB-O-GPU - A

98.

99.

100.

(@

If a variable takes discrete values a + 4,
a-35 a-235 a-3, a=-2, a+05,
a+5 and @ —0-5 where a > 0, then the
median of the data set is

(a) a-25 .,
b) a-125
(¢) a-15

(d a-075

If each of » numbers x=i{i=123,
...n) is replaced by (i + 1)x,, then the
new mean is

n+3

@ =

n(n+1)

®

©) (n+ }}(n +2)
3n

(n+1D(n+ 21
3

The weighted anthmetic mean of first
10 natural numbers whose weights are
equal to the corresponding numbers is
equal to

(@) 7

®) 14

(c) 35

() 385"
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9s.

& 919 & ST it Siea e g
s =M W v 8 7

(a) 24

() 28

96.

97.

(© 32

@ v ¥ A

ueh e & Frnfft & sea wR 43 kg
2| 3% Far ® wR Ay fenfiE 3wy
foan & W FWa: 42 kg, 365 kg,
39kg 3R 425 kg & | o= wem § foenfifai
&1 e AR 425kg B gE # Far A

Forenffat it wen w2

@ 10
® 15
(€) 20
(d) 25
WR 9§ uRd, 4 3R Beﬁrsﬁmang
18 7 4t | 3 4, BIR CHr sitET ang

247 21 8 A 9ww C F ag @
Bt ? -

(a) 32 99

) 28 af

(c) 36 af

(d) 40 Elﬁ |

" 100.

35

98.

99,

e v R fafs 7w a+4, a-35,
a-25 a-3,a-2 a+05, at+5 3R
a-05 996 q> 0,9 &, 9 AFI F
T=a H miem w=r gRl ?

(a) a-25
) a-125
(c}) a-15
& a-075
e nE @S x,=i(i=1,2,3, .00 Q

E @ W (i+ 1)x, §RI i
forn sma, | @ W W BN Y

n+3

(a) E

n(n+1)
2

(b)

© _(n_+l)(n+2)
- 3n
(n+1)(n+2)
3

(d)

vestt 10 s wemat &, s ww
T G % SR B, W wHeR

T e aust © 7

(a) 7
®) 14
(c) 35-
d 385
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" Note : English version of the instructions is printed on the front cover of this Booklet. -
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